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— 1997 927 50210 ;TR JNYR
We raise its assessment as the estates of 31997 22

OVERVIEW

A son bought property adjoining his father’s property. 727 ruled that he can
demand that his inherited share in the estate should be the field which adjoins his
property. However Ao 27 argues that the brothers can say that we assess this
adjoining property which you desire as to be very expensive as the properties of 72
1> 0. There is a dispute between "9 and m»doIN as to the meaning of 9% 1°%vn
11°71 927 °0212.

— MYV INYM NIIANN DYV MY 09190Y “Hyan ‘h1wa pa0npn ws
“""w explained that the claim of 1 127 *0210 1°%vn is by a ®»an nva, where the
brothers can claim that occasionally this field which you want is blessed with rain

more than the rest of the fields, and therefore it is worth more -
— 199591 90919 7Y KY 5933 99NN ROYIN SN

However by two fields bordering two canals it is not applicable to say j3v%y» -
=M 9N N NIANM PRI MPYND TP98VY 19D

Since these fields (117w N°2) require irrigation, so one field is not more blessed
than the other. This concludes *"w70.*

mooIn disagrees with the explanation of *"w7s:
— 99 0¥ BNN NNNX NIIANHD MPYNY TPINY OMN DT HINII PPN

And nMoon does not share this view, for even regarding those fields which

require irrigation one of them may occasionally be more blessed than the others -

— APIY AN NNRY “PAPYA NPIY NNRY
For one field may be stricken with 1272 and the other may not, so the brothers
should be able to argue j1°%¥n even by a PrPwi n°a 77w, so why did 7o 27 say that their
argument by a ProWa M3 is 131 2177 °Xi and not 191 1179y,

' A 9va7 77w is a field which relies only on rainwater for the crops to grow; it is not irrigated (as a Prows n°2).

2 The n"2n1 Mt amends this to read; D¥12°w 31981 v,

? Regarding the case of 131 *IX XNy X *n7n we do not find 7o 21 saying that the brothers can claim 121 3°%¥»; the
reason (according to *"w7) is, as NMHOIN continues to explain (°"w70) that irrigated fields are all equally irrigated.

* According to *"wA the claim of 11991 causes their refusal to give him the adjoining property, because this property
is (possibly) worth more. See footnote # 8.

3 1197 is translated as ‘blight’ (a disease which causes the plants to wither and die)..
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mooin offers his interpretation of j1°5yn:
— %% N7WA 135 WY MAT 7Y 1153 Y 11591 937 Y0939 195991 0N 13939 W)

And the n'"1 explained that 3997 =27 021> J1°9Y» means, we (the brothers) will
not give up to you our rights which we possess in this (adjoining) field -
- 71:"1’\09 1AV 1999 232 1195 099 DITA XY DN
Unless you pay for it an expensive price, just as the 11°92 %12 who were wealthy -
— ©999° 03172 NYN DIMYPIP 03991 1N KN
And they would not sell their fields unless they received an expensive price.®

M5 continues:
— 15W0) S9IN2 NNYM NIN “NI2) NINNT NTIYN INP XY 9933 59NN RNYINR 5195

And the case of 31 5InR RNYIR 090 is not referring back to the episode of that

man who bought property X1 27 *7X¥%R, but rather it is a separate case -
—) 1NN DY VY MTVY INY 9995

Meaning if there are two fields and each of them has its canal to irrigate it -
— N NTY INN T NTY INN NPIY DINYY HNN DI IPINIY TANRND NI

And one of the heirs (or partners) wants that each field should be divided into
two parcels, so each one (of the heirs/partners) would take half of this field and

half of the other field (instead of each one taking one complete field); regarding this claim -
— s TAN PUN TAN 999 NOPW 19 BYY D1 %95 199 Y10 19 DY 19915 729 Y9N

7729 ruled that 9''»Y 121> and each one receives a complete field in order that
each one should have a contiguous parcel.

mooIn responds to a seeming difficulty:
— Pmun snv 1932 9091 99 X3 AN XDYIR 2090 wIaY U 19

® The other brothers have a right to divide the fields with a 173 which may result that this adjoining field will belong
to one of the other brothers. If one of the other brothers receives this adjoining field he will be able to sell it to this
brother (who does not want the 9713) at a higher price. They may request to be paid (whatever price they want) to
relinquish this right. 101 27 maintains that this is not 0170 N, for the other brothers possibly stand to profit if there
is a 9 (and they will lose that potential profit if there is no 7).

7 Wealthy people have no ‘cash flow’ issue, and are willing to wait until they get the price they want (above the
current market price).

¥ According to mooIn their refusal to give him the adjoining property is because they have a right for a 9; they
therefore claim that to relinquish this right we assess this property 7171 72 °0313. See footnote # 4 & 6.

? 9 71"72 " learns that the case of XNy X *n7n is referring to the case of Xwi *27 X1¥»X 121, However Mmoo cannot
learn that way, for in that case 7oy 21 should have objected to 0"y 1213 by saying 11°7¥n just as he said by X¥nR 127,
' The "27 ninan amends this to read; 77w 708 ©3.

"1t seems (according to Moo that the two parcels were not adjacent to each other.

"2 In the case of 131 X XNYIX >NN we can assume that the fields were not adjacent to each other; however by *nan
731 TNX XNYIR, seemingly the fields are adjacent to each other so why are we 0"y 1°913 since the fields join?

" The canal runs between the two fields. See the X"wan for an explanation how the fields can be divided.
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And we can similarly explain the case of two fields bordering one canal, that

the canal separates the two fields -
— NISN AN 1PYN 191 XY DINYY 1TY 93 1PN ON)

So that if each field was divided into two (and they would each take portions on

both sides of the canal), his parcel will not be contiguous. Therefore even 707 27
agrees that 0"nY 1913 (since the reason of 2111 *Xi1 does not apply) and it cannot be divided.

mooIn explains why we do not use the argument of 11°2¥7 in the cases of XnyaX >nan:
— 1999 92 %27 59935 199533 “anmb 7Y XY %3na ROV

And now we understand that in these cases of Xn¥aX °nan (either *731 DX or NN

"11), it is not possible to argue 31977 22 927 39210 J199¥% and require to divide the fields
— 19591 DIV YPINIY NN DIIUYY PITNY N¥Y TAND DN YONT

For is it then so that if one would want to divide the field into twenty parcels
would we consider dividing them because of the J3°%¥7 claim; obviously not!'®

mooIn presents an additional difficulty for >"w5:
1090IPN WITAY 2WN1M 1N 333 7195531 o
And the expression j3°%¥2 is also not appropriate according to >''2=s.

SUMMARY

>"w9 maintains 1°9v7 is applicable only for a %¥a7 n°a where there is a possibility
that one field receives more rain than the others, but not by a 1w n»2. However
nMooIn maintains that 73°%v merely means that we do not want to release our rights
to this field unless we receive a high price for it (it applies to all fields). 13°%vn
cannot override having one’s (initial) parcel X7¥n K.

THINKING IT OVER

'* Seemingly we could argue that each field should be divided into two for one brother may claim that either field is
expensive 111 7127 °0212. Therefore NM©0IN rejects this argument.

' The claim of 1%y is valid (according to Ao 27) when one of the parties wants to claim a field without a 5;
therefore 11°2¥» denies him that request. However here where both parties wanted to divide with a 9713 the only issue
was whether to make the 9713 on the two whole fields or the 77 should be on both halves of each field. The claim of
1°5v7 is insufficient to grant any party a right to divide parcels. The right to complete parcels (which is the ‘normal’
way to divide) overrides any claim of j1°%vn. See following footnote # 16.

' It should be noted that in the case of XXX 121 the claim of j1°%vn denies the son’s request to divide without a 973
(to change the status quo). In the cases of XnyaX °nan, the purported claim of 11°%¥n (which npoIn rejects) would
have supported the claim of the one who wanted to break up the parcels (and change the status quo).

71199 means we are assessing it at a high price (above the market value). However, according to >"@1 the claim
should have been X7 111 137207 7 2»wo? [so it is actually worth more (see n'"ni). See ‘Thinking it over # 1].
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1. When we say 13°2¥n, is there a limit as to how much'® the brothers can claim?
2. In the case of X721 *3NX XNYIXR °nNN why is it that (according to A0 29) the claim
of 11°%¥n is not sufficient to deny them X%n 71X, however the claim of 91 °Xi1 can

deny them the right to be X7xn TIX?

3. How can we explain (according to no0In) the np>mn between 5o 27 729
(regarding 121 X1¥nK 721) whether it is a 2170 N2 or not?"”

"8 It is obvious that the brothers will not claim such an exorbitant price that it will not be worth for the adjoining
brother to buy it at that price. The question here is whether 7"°2 will not allow the brothers to demand payment
above a certain level (even if we maintain 71°5vn).

¥ See w2 nx 7"0.
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